H & 0l & AHS B Ml A

20238 =0ila eI S

SN OEIIED
M HASXSA(AMEIEX/MEIEXILE
el dEBS ARy (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
G&ItEL 53,897,271 51,637,424 2,259,847
= 21,617,412
[ 83,484
Jl 2,476,444
< 15,384,179
Al 13,915,752
CH 420,000
HAESXISE(AIEISXI/ AR S XL E) 53,458,991 50,950,584 2,508,407
= 21,513,092
[ 83,484
Jl 2,476,444
& 16,377,659
Al 13,588,312
CH 420,000
LdEHEES Atlxd 5,215,862 4,359,052 856,810
= 1,028,125
Jl 1,905,699
< 624,129
Al 1,657,909
PHES Jle =24 X 32,000 29,000 3,000
201 Ler23 | 19,000 16,000 3,000
01 At2t2ltl 11,000 11,000 0
Oggt=ZH| 9,000,000& 9,000
O=EH| 2,000,000& 2,000
02 S3=gHl 8,000 5,000 3,000
0332 2 Al 8,000,000& 8,000
202 04| 10,000 10,000
01 =LHOLI 10,000 10,000
OZEH0H 10,000,000 10,000
203 HR=&H] 3,000 3,000
03 A=A R =NH] 3,000 3,000
OU4tH 243t g2 =&
1,000,000 1,000
OFAH SEMY P2 FA
1,000,000& 1,000
O=E=FYR = 1,000,000 1,000
&N 243 X2 29,600 28,600 1,000
201 er2 3| 9,600 9,600 0
01 At2teltl 9,600 9,600 0
oget=ZH| 2,400,000& 2,400
O==712 250y S& WS S SA=E
3,600,000 3,600




SN OEIIED
M HASXSA(AMEIEX/MEIEXILE
el dEBS ARy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0228 MoK 1R S ZALE
3,600,000& 3,600
301 EtE2 NS 2,000 2,000
11 #AIAHIXIZ S 2,000 2,000
ONdHNaRE NS & Hal FAAF A
A& 2,000,000& 2,000
307 212+01& 18,000 17,000 1,000
11 AMEISXAEEES 18,000 17,000 1,000
OMENEE M1 L0tstw
6,000,000& 6,000
OO0t =48 8,000,000& 8,000
OJIE=EE Hgzs 2,000,000& 2,000
OMZA U MUY BE S U HUBS
2,000,000& 2,000
HEX A SSHSAS 20,000 20,000
307 glztol & 20,000 20,000
11 AMEISXAEEXS 20,000 20,000
OOIMXIER AZUFA TR
20,000,000& 20,000
LSHESFUXAG (KAL) 20,000 10,000 10,000
307 @20l & 20,000 10,000 10,000
1 AMISXAIEEX 20,000 10,000 10,000
OYMBSFF I ESA R
20,000,000& 20,000
HERBZ Al 243t XI2A 50,000 100,000 /50,000
== 15,000
Al 35,000
201 er23 | 23,300 36,300 A13,000
= 6,990
Al 16,310
01 AtR2t2|HI 16,300 21,300 /5,000
OANRENHE 29 2,800,000& 2,800
= 840
Al 1,960
OEE=E 7Y 6,000,000 6,000
[ 1,800
Al 4,200
OU4al=t8s g4 W= 2,000,000 2,000
= 600
Al 1,400
O daatEAEERRE 22 B4+
100,000 13 *32] 3,900
< 1,170
Al 2,730




2A:

Ol&ot=0t

M HASXSA(AMEIEX/MEIEXILE
el dEBS ARy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CEELIEEREEES
100,000 8 »23] 1,600
& 480
Al 1,120
03 A= 7,000 15,000 28,000
OUEEIS Al W= 2,000,000& 2,000
== 600
Al 1,400
ONSIBOIT At U KT A
5,000,000& 5,000
= 1,500
Al 3,500
301 EetE2 NS 5,200 1,400 3,800
s 1,560
Al 3,640
11 AALAHIXIES 1,000 0 1,000
O HastzAl s & 23S
1,000,000 1,000
= 300
Al 700
14 IIEt2 83 4,200 1,400 2,800
P ANUBE 2L 1,000,000& 1,000
= 300
Al 700
OANIEOE BE2Y
20,0003 202 +82 3,200
== 960
Al 2,240
303 Z&a= 1,500 4,300 22,800
= 450
Al 1,050
01 Za= 1,500 4,300 A2,800
OMYFL 24 2o 1,500,000 1,500
=S 450
Al 1,050
307 212+01& 20,000 34,000 14,000
< 6,000
Al 14,000
02 LB HAHE L 20,000 34,000 14,000
O dzlat=Al NISELs Al 82
20,000,000& 20,000
= 6,000
Al 14,000
SRIE HHE=SH S A 1,806,590 1,101,100 705,490




2A:

Ol&ot=0t

M HASXSA(AMEIEX/MEIEXILE
el dEBS ARy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Il 1,445,272
=S 180,659
Al 180,659
301 EetE2 NS 1,806,590 1,101,100 705,490
Il 1,445,272
= 180,659
Al 180,659
01 Al EE AT S (2 RDEXA) 1,806,590 1,101,100 705,490
Ot RIS AEH =]
1,718,400,000& 1,718,400
Il 1,374,720
= 171,840
Al 171,840
OstRZIIE FII=H| 84,000,000 84,000
Il 67,200
= 8,400
Al 8,400
OgtR2ItE =] 4,190,000& 4,190
Il 3,352
= 419
Al 419
NAS RIS X (2ZAE) 147,876 163,200 15,324
=S 44,363
Al 103,513
301 EtE NS 147,876 163,200 15,324
< 44,363
Al 103,513
01 AR 2EHSHS(RDNEXRTHE) 147,876 163,200 N15,324
odsiE=s 3,000,000& 3,000
= 900
Al 2,100
oxgEal 3,000,000& 3,000
= 900
Al 2,100
odyA=H| 134,376,000 134,376
[ 40,313
Al 94,063
(©FaleTvella] 300,000 300
== 0
Al 210
Oossd &= XH4stsH|
7,200,000& 7,200
== 2,160




2A:

Ol&ot=0t

M HASXSA(AMEIEX/MEIEXILE
el dEBS ARy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 5,040
MAS e 2I1E X2 (RIMA) 51,500 51,500 0
301 EtE NS 25,000 25,000
02 ARSI 2EHTS(FIANS, XLETHE) 25,000 25,000
O8R2I1E Mt =gkl
25,000,000 25,000
307 elztol & 26,500 26,500
11 AMEISXAIEEXE 26,500 26,500
OMASE SIR2(ZIHIHE H=LHSAY
2,500,0002 2,500
ONAS SH2Q(SA)IIE LY Xa
24,000,000& 24,000
Ol R2I=E AEX2 21,200 21,200 0
< 6,360
Al 14,840
301 EtE NS 21,200 21,200 0
= 6,360
Al 14,840
01 Al EE AT Z2(2REXR) 21,200 21,200 0
O IIER &det2 ek|
2,000,000 2,000
=S 600
Al 1,400
Ollg =22 M= 1,200,000 1,200
== 360
Al 840
Olle B2 M2 AH|
18,000,000 18,000
= 5,400
Al 12,600
AEEER TUEAE 7,000 11,250 N4,250
7l 5,600
= 420
Al 980
301 eEetE2 N = 7,000 11,250 N4,250
Il 5,600
= 420
Al 980
01 Al EE A2 (2RNEXMR) 7,000 11,250 N4,250
OHALBRD OlSUSH|
6,000,000 6,000
Jl 4,800
= 360
Al 840




2A:
X XH -
o e

=aak

Ol&ot=0t
HAEZXSE(AZIEX/AIEIS XL
LHBES AR XS

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CEPEEE RS,
1,000,000 1,000
Jl 800
[ 60
Al 140
orolEs X 1,332,000 1,200,000 132,000
= 932,400
[ 119,880
Al 279,720
307 glztol & 256,770 391,022 A134,252
= 179,739
s 23,109
Al 53,922
11 AR SXAIEE X 256,770 391,022 134,252
OotolE= X (2&Hl) 256,770,000 256,770
= 179,739
S 23,109
Al 53,922
308 XXM SOIE 1,075,230 808,978 266,252
= 752,661
= 96,771
Al 225,798
11 S| 2SO0 UeZ XA AIE 1,075,230 808,978 266,252
ootols= XIA(0E2)
1,075,230,000& 1,075,230
= 752,661
= 96,771
Al 225,798
OL0I=20l g¢83st XI& 5,000 5,000 0
307 @I2t01 & 5,000 5,000
1 AR SXAIEE X 5,000 5,000
OOI0I=L0I AgHeuF S K&
5,000,000 5,000
Ct2shts 3K 65,628 65,628 0
201 er23| 500 500
01 At2teltl 500 500
Odgt+==t| 500,000 500
301 EtE2 NS 10,000 10,000
02 AR 2HHSFS(HAAS, XNLHE) 10,000 10,000
Ot=2=IE MHEFAS & Ws
10,000,000& 10,000
307 212+01& 55,128 55,128
11 AMEISXAEEES 55,128 55,128




2A:

X ZH -
o=

Ol&ot=0t
HESXIST ARSI/ A2 S XL E)

el ¥d8S Ay (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OYSNSXTA ¥ YSS20| WSH| ¥
g2 ¢ 5,128,000& 5,128
Ot2=hE HEHdEAIZ
30,000,00024 30,000
OAINY - U2BIIE XSS L &
ALXIZ 20,000,000 20,000
ALY /L2E0HE XJME SEAEIA X2 403,287 378,700 24,587
Jl 174,990
< 52,497
Al 175,800
307 212+01& 403,287 378,700 24,587
Il 174,990
=S 52,497
Al 175,800
05 git?(& =S 403,287 378,700 24,587
OALINFLIRSNSNAME SEAEIA
A& 403,287,000 403,287
7l 174,990
S 52,497
Al 175,800
CHEPIEXIZME SAHAL =& 20,800 20,800 0
< 6,240
Al 14,560
307 lztol & 20,800 20,800 0
= 6,240
Al 14,560
11 ABI= XA X 20,800 20,800 0
OBARASOPNEE, BEAR)
20,800,000 20,800
= 6,240
Al 14,560
CHESHHE S4stAtY 250,639 251,014 A375
7l 125,319
= 37,597
Al 87,723
307 @120l & 250,639 251,014 A375
Il 125,319
= 37,597
Al 87,723
11 AMEISXAIEEXS 250,639 251,014 A375
OLIE3HE Y2 usAHA
126,784,000 126,784
Il 63,392
= 19,018




O4§EX|§_( ABISXI /A2l S X2 E)
UMTE AlS| XA (B2l E)
SA - ZE - B2(30) - HRAS of v e HIDE2
Al 44,374
OCH22tt HA AZEXE
38,123,000& 38,123
Jl 19,061
= 5,719
Al 13,343
O0|=20l &dxd 33,944,000 33,944

7l 16,972

= 5,092

Al 11,880

OZE0I2IT SHAAHIA
31,788,000& 31,788
7l 15,894
= 4,768
Al 11,126
OZE0IRIT A2US KR
20,000,000 20,000
Il 10,000
s 3,000
Al 7,000
HEZ=012IK T2eIEXJME AEME 18,500 17,600 900
S 5,550
Al 12,950
307 I2+0| & 18,500 17,600 900
= 5,550
Al 12,950
11 MEISXAEE 18,500 17,600 900
OWEZE0I2UA LIS ME I
HE 18,500,000 18,500
=S 5,550
Al 12,950
M ZE012A UL ZA=E 8,400 12,600 A4,200
= 2,520
Al 5,880
301 EtE NS 8,400 12,600 24,200
= 2,520
Al 5,880
14 IIEt2 83 8,400 12,600 A4,200
ONEZE0I21AF AN HA=Z
8,400,000& 8,400
S 2,520
Al 5,880
ZEO0IYX G701 UHH =AML X 35,000 35,000 0

< 10,500




SN 0IEIIET
MM HE=EXNSE(AIZEX/AtSIS X
celr 24d8sS Alelxd (Gt H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 24,500
307 212+01™ 35,000 35,000 0
T 10,500
Al 24,500
1 ABIZXIA X 35,000 35,000 0
OZE0I2K YR0PD| XA VLA
35,000,000 35,000
= 10,500
Al 24,500
CHESIERIJMEH SAIMAIE 16,670 20,000 A3,330
& 5,000
Al 11,670
307 212+01™ 16,670 20,000 A3,330
T 5,000
Al 11,670
11 Al =SXAMEES 16,670 20,000 23,330
OUZNEXJEE E+AHXA
16,670,000 16,670
= 5,000
Al 11,670
OIZ0 WSZZY(22Y YY) 2% 13,000 13,000 0
& 6,500
Al 6,500
307 212+01™ 13,000 13,000 0
T 6,500
Al 6,500
11 Al =SXAMEES 13,000 13,000 0
O0IZ0 WST2 (S 2HISY)
=4 13,000,000& 13,000
= 6,500
Al 6,500
AL 43I X2 (KHMIAFY) 30,000 25,000 5,000
307 212+01 ™ 30,000 25,000 5,000
11 AR SXAMEES 30,000 25,000 5,000
OAHZIE E43tAtY 30,000,000 30,000
IIEESGSUSAE A 133,850 130,000 3,850
= 66,925
& 20,077
Al 46,848
307 212+01™ 133,850 130,000 3,850
= 66,925
= 20,077
Al 46,848




2A:

X XH -
o=

Ol&ot=0t
HESXIST ARSI/ A2 S XL E)

el dEBS ARy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 133,850 130,000 3,850
OIt= Sgdat AFA
133,850,000 133,850
= 66,925
< 20,077
Al 46,848
1000k Al 2002 e NIRA 8,340 0 8,340
= 2,500
Al 5,840
307 gl2to| & 8,340 0 8,340
S 2,500
Al 5,840
11 AMISXAIEEX 8,340 0 8,340
O1e017 Al BZAH Y o X3 A
8,340,000 8,340
< 2,500
Al 5,840
SS=0LisH 2913 109,692 109,692 0
Jl 54,846
& 16,454
Al 38,392
307 elztol & 109,692 109,692 0
Jl 54,846
s 16,454
Al 38,392
05 2IR”IRIE = 109,692 109,692 0
OZ2==S0tLtsH 23 (20HA)
109,692,000 109,692
Jl 54,846
=S 16,454
Al 38,392
HEE2SAE a8 XIE 172,790 164,988 7,802
Jl 86,39%
=S 43,197
Al 43,198
307 @I2t01 & 172,790 164,988 7,802
Jl 86,3%
= 43,197
Al 43,198
10 AlISXAEEHE 22X 172,790 164,988 7,802
olZtaga 29 172,790,000& 172,790
Il 86,39%
= 43,197
Al 43,198




SN OEIIED
3 =X SE(AIZSXI/ At SR LEH
el dEBS ARy EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
HEESAIE &EHR 212d| K& 30,764 28,944 1,820
307 212+01 A 30,764 28,944 1,820
10 Al SXAIEHE2ZHIEX 30,764 28,944 1,820
ONWAESAIE AER 21| XA
30,764,000 30,764
A= ZHAANE SAEL MM 51,756 51,756 0
& 10,352
Al 41,404
307 QIZt01A 51,756 51,756 0
= 10,352
Al 41,404
10 IS SXAIEHE2ZHIER 51,756 51,756 0
OW&E=ZaE Ald SAR D122
51,756,000& 51,756
& 10,352
Al 41,404
=" 2EAE SAA =5 14,400 14,400 0
= 4,320
Al 10,080
307 gI2tol ™ 14,400 14,400 0
= 4,320
Al 10,080
11 Al SXAMEE X 14,400 14,400 0
OBARAZORIEE, IEA)
14,400,000 14,400
& 4,320
Al 10,080
=4 IoiA X2 - 88 2208 23 K2 3,090 3,090 0
| 2,163
& 464
Al 463
307 212+01 A 3,090 3,090 0
J| 2,163
T 464
Al 463
1 ASI=SXAIEEE 3,090 3,090 0
ON=" mloiAt Xz - 38 T2 29
X3 3,090,000& 3,090
| 2,163
= 464
Al 463
SAESTIHA =], 2hHHl X3 1,720 1,720 0
| 1,204
= 516




2A:

Ol&ot=0t

M HASXSA(AMEIEX/MEIEXILE
el dEBS ARy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 1,720 1,720 0
Jl 1,204
== 516
01 Al EE A2 (2RNEXMR) 1,720 1,720 0
Od=8 Uloikt 2 =H] 1,720,000& 1,720
) 1,204
& 516
JEEEHIHA XIgsls 228 R =4l K& 14,158 14,158 0
Jl 9,910
= 2,364
Al 1,884
301 EetE2 NS 1,600 1,600 0
Il 1,120
== 480
01 Al EE A S(FRNEXM) 1,600 1,600 0
OJIE =TI A 2 24| 1,600,000& 1,600
7l 1,120
S 480
307 elztol & 12,558 12,558 0
Jl 8,790
< 1,884
Al 1,884
11 AMEISXAEEES 12,558 12,558 0
OIS ZL oAt Xg=s22 08 29
12,558,000 12,558
Jl 8,790
== 1,884
Al 1,884
oA 2SN 29 X 73,862 73,862 0
= 22,159
Al 51,703
307 elztol & 73,862 73,862 0
= 22,159
Al 51,703
1 AMISXAIEEXS 73,862 73,862 0
OZZHUloHAt 2SN 24
73,862,000 73,862
== 22,159
Al 51,703
Hyzl2 24 159,150 148,750 10,400
101 @124H| 3,000 2,600 400
M ORIMZZ2NSE S 3,000 2,600 400




2A:

Ol&ot=0t

MM HE=EXNSE(AIZEX/AtSIS X
el SHES Malxd EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OO0 4l SItEH| AR (HE=EY)
3,000,000& 3,000
201 B2 AY| 52,650 52,650
01 A=R2teld| 30,650 30,650
OgEt=2H| 9,000,000& 9,000
oZz ¥ =22 NE 3,000,000& 3,000
Os&J1, &J|, A% S Aldate] 9|
10,000, 0002 10,000
OZzIY WY 23 U HIE 7
5,000,000& 5,000
O=¢&| 1,150,000& 1,150
OZHI0IXl 22| S| 2,500,000& 2,500
02 2324l 22,000 22,000 0
o32223 14,000,000 14,000
OAd= X 2eldl 8,000,000& 8,000
206 =4l 2,000 2,000
01 M=zl 2,000 2,000
O0&sl2 23 M=l 2,000,000& 2,000
301 LetEHZ 101,500 91,500 10,000
11 HALAHIXIE S 1,500 1,500 0
ON&3|2 2HX wWs & HAF EHAX Al
1,500,000& 1,500
14 J|EI2 A3 100,000 90,000 10,000
O3 T2 ) 2AIE
100,000,000& 100,000
HAUEURE Ot N3 57,600 0 57,600
= 28,800
& 8,640
Al 20,160
301 LPENF 57,600 0 57,600
= 28,800
& 8,640
Al 20,160
01 A BE X2 (2 RNEETA) 57,600 0 57,600
OFALEHRER Ots2sH| XA
200,000 x24H =123 57,600
= 28,800
T 8,640
Al 20,160
SNUIA & kst 34,407,339 33,842,980 564,359
= 14,726,449
= 13,290,043
Al 6,390,847
LY X& 363,992 1,200,156 A836, 164




2A:

X ZH -
o=

Ol&ot=0t
HESXIST ARSI/ A2 S XL E)

&Rl EsAHA 2 ey (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 272,994
=S 63,699
Al 27,29
301 22N = 363,992 1,200, 156 A836, 164
= 272,994
= 63,699
Al 27,29
01 Al EE AT S (2 RDEXA) 363,992 1,200,156 A836, 164
otggs=g A 363,992,000 363,992
= 272,994
= 63,699
Al 27,29
2230 (Hot==E) X 3,403,073 979,000 2,424,073
= 2,552,305
= 595,538
Al 255,230
301 LENZ 3,403,073 979,000 2,424,073
= 2,552,305
== 595,538
Al 255,230
01 AR 2EHSHS(RDNEERTHE) 3,403,073 979,000 2,424,073
ogot=gd X& 3,403,073,000& 3,403,073
= 2,552,305
== 595,538
Al 255,230
IR0IESE K& 8,607,722 9,858,189 1,250,467
= 6,455,792
== 1,506,351
Al 645,579
301 22N 8,607,722 9,858,189 A1,250,467
= 6,455,792
= 1,506,351
Al 645,579
01 Al E2E A S(FREEMA) 8,607,722 9,858,189 1,250,467
0gR0t B2 XA (3000%)
8,601,533,000& 8,601,533
= 6,451,150
= 1,505,268
Al 645,115
OS0IE| Ot OFHAE 255 X2 (10Y)
3,189,000 3,189
= 2,392
=S 558




A HAIED
MM HE=EXNSE(AIZEX/AtSIS X
ol EsAHlA 2 s EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 239
OYVSOIE YBAE SYBS2 NRA(102)
3,000,000& 3,000
= 2,250
& 525
Al 225
35M el s 7,511,355 7,511,355 0
= 7,511,355
301 LPENZ 6,511,355 7,511,355 A 1,000,000
& 6,511,355
03 A2 2 &6 2 (XY THA) 6,511,355 7,511,355 A 1,000,000
OS2I E (HE2) 6,000,000,000& 6,000,000
& 6,000,000
OS2l UE LA HRIM&H|
511,355,000& 511,355
= 511,355
307 QIZ2t01A 1,000,000 0 1,000,000
= 1,000,000
10 Al S XA EEHER2IHIE X 1,000,000 0 1,000,000
O=clts 294 1,000,000,000& 1,000,000
T 1,000,000
Hglold 222Y 252 Xd 220,000 291,755 ANT1,755
& 44,000
Al 176,000
301 LPENF 220,000 291,755 ANT1,755
T 44,000
Al 176,000
03 A B & H 262 (XY M) 220,000 291,755 ANT1,755
O0elold R2RH=s B2 X2
220,000,000& 220,000
= 44,000
Al 176,000
AIRHH ESAHIA HIS K& 144,540 143,708 832
= 72,270
= 36,135
Al 36,135
301 YPBENZ 24,000 47,600 223,600
= 12,000
T 6,000
Al 6,000
01 AISIBE X 2GS (2 LEXTME) 24,000 47,600 223,600
OAIZHH BE2 HEZ2 24,000,000 24,000
= 12,000




SN IS
M HASXSA(AMEIEX/MEIEXILE
&Rl EsAHA 2 ey (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,000
Al 6,000
307 elztol & 120,540 9%, 108 24,432
= 60,270
< 30,135
Al 30,135
10 Al SXAEEHE2EHI 22X 120,540 96,108 24,432
OAIZVH 25 0f2I01Z 2121t % 22| X
a 120,540,000 120,540
= 60,270
[ 30,135
Al 30,135
gus 22 970 980 A10
= 735
Al 235
301 LEtE N = 970 980 A10
= 735
Al 235
02 NBI2HHSFS(HAAS, NLHE) 970 980 A10
oglt=s 282 970,000& 970
== 735
Al 235
S elAdl X 5,640,000 5,638,943 1,067
= 2,820,000
== 1,410,000
Al 1,410,000
307 212+01& 5,640,000 5,638,943 1,067
= 2,820,000
= 1,410,000
Al 1,410,000
10 AlRISXAZEE 22X 5,640,000 5,638,943 1,067
O=Z8 - €20gl0ld EsuXE 212
4,861,597,000& 4,861,597
= 2,430,799
= 1,215,399
Al 1,215,399
OFONOIEES 01RI0IF BRDE 0I21Y]
454,544,000 454,544
= 227,272
= 113,636
Al 113,636
Og0tdE O2l0ld E|NHIA el
195,332,000 195,332
= 97,666




2A:
X XH -
o e

=aak

Ol&ot=0t
HAEZXSE(AZIEX/AIEIS XL
SSMHIA B et

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 48,833
Al 48,833
OO0FZIAZE S WAL Q124H|
128,527 ,000& 128,527
= 64,263
== 32,132
Al 32,132
SXWA M AL X2 2,015,529 1,978,690 36,839
= 1,209,317
& 564,348
Al 241,864
307 elztol & 2,015,529 1,978,690 36,839
= 1,209,317
< 564,348
Al 241,864
10 AlRIS XA EEE 22X 2,015,529 1,978,690 36,839
SRIAL 1AH] K& 897,514,000 897,514
= 538,508
s 251,304
Al 107,702
OHEER MZ WAL 2124H] K&
1,057,876,000& 1,057,876
= 634,726
== 296,205
Al 126,945
OUM WAL 1248] X2 60,139,000 60,139
= 36,083
== 16,839
Al 7,217
Oi2l01d FAHY elddl X 193,320 262,020 268,700
= 38,664
Al 154,656
307 elzto| & 193,320 262,020 268,700
= 38,664
Al 154,656
10 Al SXAAEEHE 22X 193,320 262,020 268,700
OOGIgl0ld FAHA 18l X2
193,320,000 193,320
s 38,664
Al 154,656
SRR MM K& 1,337,652 1,786,362 A448,710
= 802,591
s 374,543
Al 160,518




SN OEIIED
M HASXSA(AMEIEX/MEIEXILE
ol ESAHIA E gt EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 1,337,652 1,786,362 A448,710
= 802,591
== 374,543
Al 160,518
01 AR 2EHSHS(RNEXRTHE) 1,337,652 1,786,362 A448,710
OLYUDMA 2 DANBRBY 45 Tl
1,022,332,000& 1,022,332
= 613,399
== 286,253
Al 122,680
OsEZSWAI SE2E K&
315,320,000 315,320
= 189,192
< 88,290
Al 37,838
02l0ld 23 MR 406,000 406,000 0
= 83,000
Al 323,000
301 EtE N = 406,000 406,000 0
= 83,000
Al 323,000
03 A2 H A0S (XL THH) 406,000 406,000 0
UMY HRIHLH(ERAH, FR0|
X, #@oels) 318,000,000 318,000
== 63,600
Al 254,400
OHYOHOIEZ Oel0lE SAHAL S+==&
18,000,000 18,000
= 5,400
Al 12,600
OE=uXa JAL2+E 70,000,000& 70,000
s 14,000
Al 56,000
Oeloly 2 X (M=) 46,000 46,484 avitsZ}
= 23,000
s 11,500
Al 11,500
307 @I2t01 & 46,000 46,484 A48A
= 23,000
= 11,500
Al 11,500
10 Al SXAZEE 22X 46,000 46,484 N4BA
O I ~H| 46,000,000& 46,000
= 23,000




AT HEIED
M HASXSA(AMEIEX/MEIEXILE
&Rl EsAHA 2 ey (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 11,500
Al 11,500
OElold 2LXA(X&22I) 168,000 169,932 A1,932
= 84,000
< 42,000
Al 42,000
307 lztol & 168,000 169,932 A1,932
= 84,000
== 42,000
Al 42,000
10 Al2ISTIAIEEE2HIE X 168,000 169,932 A1,932
Oxtgr=gl 168,000,000 168,000
= 84,000
=S 42,000
Al 42,000
Oeloly 2SX(s0HELN gelojglold) 8,660 8,280 380
= 4,330
S 2,165
Al 2,165
307 @I2t01 & 8,660 8,280 380
= 4,330
= 2,165
Al 2,165
10 Al SXAZEHE 22X 8,660 8,280 380
OsO0HELN Heloelold 24|
8,660,000& 8,660
= 4,330
= 2,165
Al 2,165
Oelold dtetdl Xa 25,000 32,400 NAT,400
s 7,500
Al 17,500
307 @I2t01 & 25,000 32,400 AT,400
& 7,500
Al 17,500
10 Al2ISTIAIEEE 22X 25,000 32,400 AT,400
OF=R0IXE 0elold detedl X2
25,000,000 25,000
= 7,500
Al 17,500
Oelold gotet 2gadat A3 178,560 178,560 0
=S 53,568
Al 124,992




SN OEIIED
M HASXSA(AMEIEX/MEIEXILE
ol ESAHIA E gt EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 178,560 178,560 0
= 53,568
Al 124,992
10 Al SXAAEEHE2EHI2x 178,560 178,560 0
0ot 29 B3 Xg
178,560,000 178,560
=S 53,568
Al 124,992
S3EE 0 SSHI(HEAIY) 1,115,496 1,115,496 0
< 836,622
Al 278,874
307 lztol & 1,115,4% 1,115,4% 0
= 836,622
Al 278,874
10 Al SXAAEEHE 22X 1,115,4% 1,115,4% 0
O33E020IE 2] X2 (2-15HH)
1,115,496,000& 1,115,496
= 836,622
Al 278,874
S3E0E01E 2532 N& 84,000 103,320 19,320
[ 25,200
Al 58,800
307 glztol & 84,000 103,320 219,320
= 25,200
Al 58,800
10 Al SAAIEEHE 22X 84,000 103,320 19,320
oszENel0d 25352 N
84,000,000 84,000
= 25,200
Al 58,800
SSENR0E 2E2de N 192,000 252,000 60,000
307 212+01& 192,000 252,000 260,000
10 Al2ISTIAIEEE 22X 192,000 252,000 260,000
OZ33€0g0ld 2Zadst N
192,000,000 192,000
02l0ld EsABIA SEMWS X 845,000 0 845,000
307 elztol & 845,000 845,000
10 Al SXAAEEHE2EHI2x 845,000 845,000
ONB0ld ESAMHIA SEMNE X
845,000,000 845,000
ool =g A 726,380 1,204,380 478,000
201 et 3| 18,000 18,000 0
01 At22t2l] 18,000 18,000 0
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SN OEIIED
M HASXSA(AMEIEX/MEIEXILE
ol ESAHIA E gt EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OO0l JIsEZ20HE=sHl &)
64,000,000& 64,000
= 32,000
[ 16,000
Al 16,000
ooy JiseEd K& 23,000 0 23,000
= 4,600
Al 18,400
402 2IZtA=01d 23,000 0 23,000
= 4,600
Al 18,400
02 RIENZASEZ(0IETHR) 23,000 0 23,000
OO0l JIs2d XA
23,000,000& 23,000
< 4,600
Al 18,400
SIANE &5 412,000 417,000 25,000
401 Al HIZ 2018 260,000 180,000 80,000
01 Al&H| 260,000 180,000 80,000
O=SB0UE0IE JISEZAE
260,000,000 260,000
402 2I2F X201 & 152,000 237,000 85,000
01 BRI S A S E X (XM THR) 152,000 237,000 /85,000
OUE0IE JISEZAMY
104,000,000 104,000
OZSEUE0IE JISEZAE
48,000,000 48,000
=38 ZSAIE /22 A 560,000 0 560,000
= 392,000
& 50,400
Al 117,600
401 Al HIZL 01| 560,000 0 560,000
= 392,000
< 50,400
Al 117,600
01 Al&HI 560,000 0 560,000
O=&8 2FAE Jelc|22d At
560,000,000 560,000
= 392,000
== 50,400
Al 117,600
gutzed 24 55,000 45,000 10,000
101 @124H| 25,000 20,000 5,000
M ORINZZE2NSE S 25,000 20,000 5,000




2A:

Ol&ot=0t

M HASXSA(AMEIEX/MEIEXILE
el ESAHA 2 g (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S EE
2,777, 7003 «1H-93 25,000
201 er2 3| 25,000 25,000
01 AtR2te|HI 15,000 15,000
ogegt=ZHI 10,000,000 10,000
o2 5,000,000& 5,000
2 S5=24g4l 10,000 10,000 0
03&82= S 10,000,000 10,000
405 AtaHE = 5,000 5,000
01 MMM ESFSHI 5,000 5,000
oytz2d =374 5,000,000& 5,000
OrsHd=Y 10,779,444 10,200,430 579,014
= 5,704,633
= 83,484
Jl 154,864
= 1,259,110
Al 3,577,353
Eslidols HEXNE 38,890 34,200 4,690
=S 11,667
Al 27,223
301 LEtE NS 38,890 34,200 4,690
== 11,667
Al 27,223
02 A2l 2 & X +=0ll= (5 KISTH) 38,890 0 38,890
OJIEE30ts fAH|
18,720,000& 18,720
= 5,616
Al 13,104
OJEES0ts EEA
7,600,000 7,600
s 2,280
Al 5,320
ORE30ts 121 14 2| At
1,200,000 1,200
= 360
Al 840
OF =8 ZAtl X3 10,800,000 10,800
= 3,240
Al 7,560
ORESOsE ?IE 570,000 570
< 171
Al 399
RS 0ts NI 297,000 259,000 38,000
301 EtE N = 297,000 259,000 38,000




2A:

3 =X SE(AIZSXI/ At SR LEH
=t OtsHE=EY EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
02 MBI EZAGS(HAUAS, XLTHEA) 297,000 0 297,000
OJIE®IE0ts XA 290,000,000& 290,000
Olt=s23 | X& 7,000,000& 7,000
Ots2E XA MXSHMBAEER 184,000 78,868 105,132
= 128,800
& 27,600
Al 27,600
301 LPENSZ 184,000 78,868 105,132
= 128,800
& 27,600
Al 27,600
01 Al B& X2 (2 REETHA) 184,000 78,868 105,132
OO0t=s2EXI2 H = 184,000,000& 184,000
= 128,800
= 27,600
Al 27,600
glA0ts XEE=Z K& 80,000 45,000 35,000
& 8,000
Al 72,000
301 LPENSZ 80,000 45,000 35,000
& 8,000
Al 72,000
2 AN BEA>HS(HUAHS, NYHA) 80,000 0 80,000
O&Ix0ts ANEEHES XA
80,000,000& 80,000
= 8,000
Al 72,000
AAOISIHE R 63,000 46,600 16,400
| 44,100
= 1,410
Al 17,490
301 LBENZ 63,000 46,600 16,400
| 44,100
= 1,410
Al 17,490
01 AISIBE X 2GS (2 UETME) 63,000 46,600 16,400
OYAOIS YELY XIR
57,600,000& 57,600
| 40,320
Al 17,280
O=eJ12t 2XXIA 700,000 700
| 490
Al 210




2A:

X XH -
o=

=91: Olsd&=s (EH9): ®2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
og2dlz K& 2,700,000& 2,700
| 1,890
= 810
oY =ol= 2,000,000& 2,000
| 1,400
& 600
22 - IIERE Ol delXlz K& 1,100 2,200 A1,100
= 770
= 165
Al 165
301 LB F 1,100 2,200 A1,100
= 770
& 165
Al 165
01 A BEA2H2(RREETA) 1,100 2,200 A1,100
Oet - IIESIE OfE ARIXIE XY
1,100,000& 1,100
= 770
& 165
Al 165
RESOtEs 188 29 323,906 292,257 31,649
= 129,562
& 77,738
Al 116,606
307 QI2Hol M 323,906 2R,257 31,649
= 129,562
T 77,738
Al 116,606
10 Al SEXAIEHE2ZHIEX 323,906 292,257 31,649
0RES0lE 1ES 29
323,906,000 323,906
= 129,562
= 77,738
Al 116,606
OtsSS XA THAXIA 160,359 145,859 14,500
= 76,700
= 30,680
Al 52,979
101 eI t| 160,359 145,859 14,500
= 76,700
= 30,680
Al 52,979
03 SRA(RINHL) 22X E 107,991 95,890 12,101




2A:

X XH -
o=

o9l OrsAHd=d (e & )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOtS= XA 2124H| XI& 107,991
o MU (F40AI12E) WA
2,503,250« 1H* 123 30,039
= 14,420
= 5,768
Al 9,851
o HUR (25412 WA
1,624,0002 x4 x 122 77,952
= 36,096
= 14,439
Al 27,417
04 JIZtNZ22 XS 2+ 52,368 49,969 2,39
OOFS=XIWAL 2124H] XI& 52,368
oMU WAt 1,504,0002 x2& * 122 36,096
= 18,048
= 7,219
Al 10,829
o CHAIZE WAL 678,000 x2E«12& 16,272
= 8,136
= 3,254
Al 4,882
Ots=XI WAL THRAXIE (XA 31,100 22,700 8,400
101 ©1AH| 31,100 22,700 8,400
03 SRA(RIH )22 U2+ 30,600 22,200 8,400
OOtS=X WAL 01l S XI=
1,700,000 1,700
Og&E =l 1,450,000& x5 <23 14,500
(OR  e] 100,0002 x5~ 12& 6,000
O=Al 140,000& 52+ 123 8,400
M ORNZZ2NSE S 500 500 0
OO0FS=XIAL 048] 500,000 500
KNS 0tsHE 249Hl K& 129,896 115,89 14,000
= 64,948
== 25,979
Al 38,969
307 212+01& 129,896 115,89 14,000
= 64,948
S 25,979
Al 38,969
10 Al SXAI2EE 22X 129,896 115,89 14,000
OXIHotsHE 228 X (7HA)
129,8%,000& 129,89%6
= 64,948
= 25,979




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 38,969
AS0tSHE 1Adl XA 563, 184 463,584 99,600
= 281,592
= 112,637
Al 168,955
307 gl2to| & 563, 184 463,584 99,600
= 281,592
= 112,637
Al 168,955
10 Al SXAAEEHE 22X 563, 184 463,584 99,600
OXS0otsHIE Al K&
563, 184,000 563,184
= 281,592
= 112,637
Al 168,955
NS OtSHE SALA =& 44,200 44,200 0
= 13,260
Al 30,940
307 @120l & 44,200 44,200 0
== 13,260
Al 30,940
11 AMRISXAEEES 44,200 44,200 0
OXIH0ISHIE SAHR =& XA (178)
44,200,000 44,200
= 13,260
Al 30,940
NS0tSHE =yl A& 10,900 10,900 0
= 3,270
Al 7,630
307 @20l & 10,900 10,900 0
s 3,270
Al 7,630
10 Al2ISTIAEEE2HIEX 10,900 10,900 0
OXIotSHIE I (7HA)
10,900,000 10,900
S 3,270
Al 7,630
NH0ISHE SZHe X2 10,000 10,000 0
= 5,000
< 2,000
Al 3,000
402 QI2F X201 & 10,000 10,000 0
= 5,000
== 2,000




2A:

X XH -
o=

=9l OlsAdsd EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,000
02 2IIHE AN 2 X (01T 10,000 10,000 0
OXHOISHE BEM X2
10,000,000& 10,000
= 5,000
= 2,000
Al 3,000
Ols=XAIE 23| 465,185 446,227 18,958
307 @I2to| & 465,185 446,227 18,958
10 Al SXAEEE 22X 465,185 446,227 18,958
OOtSEXAIE 2E R (AI0HH)
455,185,000 455,185
OtllE S3e= & HHHHl X2
10,000,000 10,000
OlSSAIAIE SAtAE 46,800 49,400 /2,600
= 14,040
Al 32,760
307 @120l & 46,800 49,400 A2,600
== 14,040
Al 32,760
11 AMRISXAEEES 46,800 49,400 22,600
OOtSEXIAIE SAHL =& A&
46,800,000 46,800
= 14,040
Al 32,760
OlS=XIAIE JIsEZAY 50,000 0 50,000
= 25,000
= 7,500
Al 17,500
402 QI”F X201 & 50,000 0 50,000
= 25,000
& 7,500
Al 17,500
02 QI TH2AILEE (01X THE) 50,000 0 50,000
OOtS=XAIE JIsE22AY
50,000,000 50,000
= 25,000
< 7,500
Al 17,500
Ols==% X At 5,823,930 6,011,500 187,570
= 4,659, 144
== 349,436
Al 815,350
301 22N = 5,823,930 6,011,500 187,570




FA 8IS
M GESKSE(AEISXI/AEIS X L)

(i B == P g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,659,144
=S 349,436
Al 815,350
01 Al E2E AL S(FRDEXH) 5,823,930 6,011,500 187,570
oots+< X& 5,823,930,000& 5,823,930
= 4,659,144
= 349,436
Al 815,350
Ols=Atl X 1,479,840 1,193,256 286,584
Jl 102,764
T 452,200
Al 924,876
301 EtE NS 1,479,840 1,193,256 286,584
Jl 102,764
= 452,200
Al 924,876
01 Al EE A ZS(2DEXMR) 1,479,840 1,193,256 286,584
Ogs - Y&is SAAE
1,027,640,000& 1,027,640
) 102,764
Al 924,876
0%IE & - Y 2RY AN
452,200,000 452,200
& 452,200
Ots=g Ag=aHI(23HI) 1,500 3,000 A1,500
= 1,050
= 135
Al 315
201 er=23y| 1,500 3,000 21,500
= 1,050
= 135
Al 315
01 At2teltl 1,500 3,000 1,500
OO0ts==¢ ArE=EHI(2HI)
1,500,000& 1,500
= 1,050
= 135
Al 315
OtsSAH1 XI& (XEA) 9,500 9,500
201 er2 3| 6,000 6,000
01 AtR2t2|HI 6,000 6,000
OOISBAIIC 2X++8 2 L3I
6,000,000& 6,000
402 2I2E X201 & 3,500 3,500 0




2A:
PSR
ool

PP/
OIS = RIS (A

Olsdd=4

312X/ ALSI =2 XL Et)

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 QIZEXHE2 AL 2 (REHTH ) 3,500 3,500 0
OttMEAlA X2+ & 28Hl K&
3,500,000 3,500
Ots?I 22 S 9,800 10,000 A200
=S 1,960
Al 7,840
301 LEtE NS 9,800 10,000 A200
== 1,960
Al 7,840
14 JIEt2 4= 9,800 10,000 A200
oot SHI 9,800,000 9,800
& 1,960
Al 7,840
ors=sXsd 107,200 102,200 5,000
201 er23| 3,000 3,000 0
01 AtR2t2|HI 1,500 1,500 0
Odgt+=H| 1,500,000& 1,500
02 S3=gHl 1,500 1,500 0
O02l0le B HyEEE
1,500,000 1,500
301 EtE NS 2,000 2,000
14 IIEt2 8= 2,000 2,000
OOISSAIAIESAL ws HAA 24
1,000,000 1,000
O0ts?Aus 4L 24
1,000,000 1,000
307 212t01& 102,200 97,200 5,000
11 AMRISXAEEES 102,200 97,200 5,000
oogole X 35,000,000 35,000
OXSOtSHIE SASAMA 21248] XI&
67,200,000& 67,200
ofzlolg AL XIRAIH (OtSHARAE23]) 7,000 5,800 1,200
307 gl2to| & 7,000 5,800 1,200
11 AMEISXAEEXS 7,000 5,800 1,200
OO0Elole &AL XIZAIS (OtS IR E23l)
7,000,000 7,000
FHAAHNS OtsSSEAHIA XA 187,950 192,550 24,600
= 150,360
=S 9,397
Al 28,193
201 fet=3| 61,950 77,200 15,250
= 49,560
= 3,007
Al 9,293




2A:

M HASXSA(AMEIEX/MEIEXILE
el OlsdE=sd (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
01 At2t2ltl 16,000 20,000 24,000
OFAAS OtSSSAHIA X2 A
16,000,000 16,000
= 12,800
== 800
Al 2,400
02 S3=24l 7,550 8,500 A950
OFAHE OISSEAUIA TIRAY
7,550,000 7,550
= 6,040
= 377
Al 1,133
03 A2 I 38,400 48,700 /10,300
OFHS OISSEALIA TIAS
38,400,000 38,400
= 30,720
= 1,920
Al 5,760
301 22N = 95,000 86,010 8,990
= 76,000
= 4,750
Al 14,250
01 Al EE A ZS(2REXMR) 70,000 61,260 8,740
OFHAHE OISSEMUIA TRAY
70,000,000 70,000
= 56,000
= 3,500
Al 10,500
11 SEAAHIXIRES 9,000 11,000 A2,000
OFHANE OISSEMUIA N MY
9,000,000 9,000
= 7,200
= 450
Al 1,350
14 0Bt 243 16,000 13,750 2,250
OFAAHE OISSEMEIA XA
16,000,000& 16,000
= 12,800
= 800
Al 2,400
307 @12t01 & 31,000 29,340 1,660
= 24,800
= 1,550
Al 4,650




SN OEIIED
M HESXST(AEI=X/ AR SXILE)
(i B == P g (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
01 22X &I 31,000 29,340 1,660
OHAHNE OISSSAMIA KB A
31,000,000& 31,000
= 24,800
< 1,550
Al 4,650
2SEI0IS M= X2 81,600 50,400 31,200
= 65,280
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